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(g) H(g) (g) &)
(kcal) (mg)
co ksl mek osed 150 252 38 0.5 of 557 05 0.2 0
Co ksl mek sod 150 252 38 0.5 of 557 05 0.2 0
HomRE 30.25 40 6.7 12 18 0 0 0.2 0.3
Lra & 30 40 6.7 12 18 0 0 0.2 0.1
0.25 0 0 0 0 0 ofTr 0.2
30 60 5 3 0 36 2 1 0
30 60 5 3[e 36 2 1 0
KREAEDD B 89 9 01 0.8 0 0.5 01 0 0.2
KOZh B EOE & 5 1 0 0 0 0.2 0.1 0 0
CALA B EDE & 25 1 0 0 0 0.2 01 0 0
0.75 7 0 0.8 0 0 0 0 0
Eis 013 0 0 0 0 0 ofTr 0.1
uCBLEo0 05 0 0 0 0 0.1 0 0 0.1
L B B 0.03 0 0 0 0 o[- 0 0
EINABEALADS b 105.4 49 23 2.9 0 47 28 18 0.6
EonAZS E OAETH & 30 16 18 0.3 0 2.5 2.2 16 0
ICALA 1B EEGE 4% 20 7 0.2 0 0 1.7 0.5 0 0
) 2 18 0 2 0 0 0 0 0
uCELEo0 2 1 0.2 0 0 0.2 0 0 0.3
£ 03 0 0 0 0 0 ofTr 0.3
annl B 01 0 0 0 0 0.1]- 0 0
vy 1 6 0.2 0.5 0 0.2 01 0.1 0
wRaT 324.55 a1l 178 8.3 18] 645 5.4 31 11
EEE L kA< AT okt B Ay
HEL/ RS — feE( n—L N #H(mg)
(g) () (2) HE (@ £()
(keal) (mg)
6 @6l REX 5554 150 252 38 0.5 of 557 05 0.2 0
co aEsl mEX 5554 150 252 38 0.5 of  s57 05 0.2 0
RERT 1135 123 5.7 78 19 6.6 18 0.6 0.6
w7 R% = 75 17 08 0.1 1 38 17 0.2 0
S vsm E 25 59 44 43 19 0 0 0.3 0
3 28 0 3 0 0 0 0 0
3.75 4 oftr 0 0.1 0 0 0
5 13 04 0.4 0 19 0.2 0.1 0.4
ILES B o# 0 0 0 0 0 0f- 0 0
[ERPER 1 1 0 0 0 0.1 0 0 0.2
Cornb Al 0.75 2 0 0 0 0.6 0 0 0
e 2473 21 03 15 0 13 04 0.1 0.3
P 0.08 0 0 0 0 0 ofTr 0.1
R AmER 125 1 0 0 0 0.1 ofTr 0
oy EHE £ 15 3 0.2 0 0 0.8 03 0 0
Fe—v> RE £ 3.75 1 0 0 0 0.2 01 0 0
CAUA B EDE E 25 1 0 0 0 0.2 01 0 0
aam 15 14 0 15 0 0 0 0 0
P 013 0 0 0 0 0 ofTr 0.1
ERTIEr 05 0 0 0 0 0.1 0 0 0.1
LS BB 0.03 0 0 0 0 0]- 0 0
Lo LEDDBONOn 132 28 25 01 0 5.7 2 0.5 11
T3 9 sy ~boL & 100 15 2[Te 0 2.7 14 0.4 0
SR UERDIG e 20 2 03 0.1 0 0.6 0.6 0.1 0.3
o 75 2 0 0 0 0.2 ofTr 0
% Lo 2 3 0 0 0 2 ofTr 0
98 |a= 05 0 0 0 0 0 ofTr 0.5
ENTIEr 2 1 0.2 0 0 0.2 0 0 0.3
FocETiE 0TI 25.58 17 0.6 0.6 0 2.8 11 0.2 0.2
ZiEs ®oeT 10 6 0.2 0 0 14 0.6 0.1 0
R0y 5 1 01 0 0 0.4 0.2 0.1 0
ELoRy RARE £ 5 1 0.2 0 0 0.4 03 0 0
BT 0.08 0 0 0 0 0.1]- 0 0
o 25 1 0 0 0 0.1 ofTr 0
ENTIEr 15 1 01 0 0 0.2 0 0 0.2
2T 05 5 0 0.5 0 0 0 0 0
A AMEE 0.63 1 0 0 0 0 ofTr 0
% Lo 0.38 1 0 0 0 0.4 ofTr 0
piEbe (BENESY) 0Fh | 69.78 21 08 0 0 5.9 1 0.2 0.4
BArEs RE £ 36 18 0.6 0 0 3.9 1 0.2 0
% Lo 1.35 5 0 0 0 13 ofTr 0
HYh FHYA 0.9 2 ofTr - 0.4(- 0 0
ENTIEr 1.35 1 01 0 0 0.1 0 0 0.2
a= 018 0 0 0 0 0 ofTr 0.2
Ty 30 1 o[t - 0.1]- r 0
FEvav-oTEni 24.75 20 13 1 0 1.9 1 03 0.2
TRvav— T & 20 7 0.9 0.1 0 1 09 0.2 0
HwonEEhy ZF (8] (5 1.25 9 0.3 0.8 0.2 0.1 0.1 0
% tem 05 2 0 0 0 0.5 ofTr 0
ZLCBLIo0 15 1 01 0 0 0.2 0 0 0.2
Ty 1.25 0 oftr - o[- Tr 0
Y 0.25 1 01 0.1 0 0 0 0 0
sRai 540.33 a87]  149] 115 19] 798 78 21 2.8
“hait [ seass] 897  327] 194 37 1443]  132]  52[ 39
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9IAD R E%RER TeAlEL ) (4] ﬁi%’ﬁﬂ’é $(me) poetiE

(g) (g
ZH OKEBHL AKX 555 150 3.8 0.5 0 55.7 0.5 0.2 0
o KBl fEEk 5553 150 3.8 0.5 0 55.7 0.5 0.2 0
FRNH 24.73 0.3 1.5 0 13 0.4 0.1 0.3
B 0.08 0 0 0 0 0 0 0.1
HE ARRSE 1.25 1 0 0 0 0.1 0 0
FoNy BHE & 15 3 0.2 0 0 0.8 0.3 0 0
BHr—vr RE £ 3.75 1 0 0 0 0.2 0.1 0 0
CALA R RUEF % 2.5 1 0 0 0 0.2 0.1 0 0
Aah 1.5 0 1.5 0 0 0 0 0
#iE 0.13 0 0 0 0 0 0.1
LB LESKW 0.5 0 0 0 0.1 0 0 0.1
ZLed R B 0.03 0 0 0 0 0 0
REOEY 42.48 3 1.4] 0 47 1.9 0.5 0.6
0T KEEE BAT 21 2.7 1.4 1.6 1.4 0.4 0.1
RZhlced BHIARC 9 0 0 0.2 0.2 0 0
B|E  |cala B EOE £ 6 0 0 0 0.5 0.1 0 0
ETAS EFL 0.45 0 0 0 0.3 0.1 0 0
Zw<hbLEIR 2.7 0.2 0 0 0.3 0 0 0.4
E EAE 1.8 0 0 0 1.8 0 0
#if 0.03 0 0 0 0 0 0
HE ARGEE 15 0 0 0 0.1 0 0
hire & NSOHBRMNZ 13.25 0.8 0.9 0 2.4 1.1 0.3 0.6
Hv bbhired 2 0.4 0.1 0 0.8 0.7 0.1 0.5
IKALA R E2E £ 75 0.1 0 0 0.7 0.2 0 0
BB BEEL 0.75 0 0 0
ZE LY 15 0.3 0.8 0.3 0.2 0.1 0
ZLdBbLEIY 1 0.1 0 0.1 0 0 0.1
BiE LAE 0.5 0 0 0.5 0 0
I=bvb BR & 10 0.1 0 0.7 0.1 0 0
IZhvbh BE A& 10 0.1 0 0.7 0.1 0 0
HRAH 240.46 8 4.3 64.8 4 1.1 1.5
s me ERER FeAlE< () N4 ﬁ%%"% $(me) RIEAY
(g) HwE@)

o KiEHL fEk 3553 150 3.8 0.5 55.7 0.5 0.2 0
o KEHL FEEK 555 150 3.8 0.5 55.7 0.5 0.2 0
NyR=7 70.1 7.4 10.8 4.6 0.4 1 1
SL vER & 24.5 4.2 5.2 0.1 0 0.6 0
Kz VER & 10.5 1.9 1.8 0 0 0.1 0
foEnE YAE £ 15 0.2 0 1.3 0.2 0 0
APZ: -7 1.5 0.2 0.1 1 0.1 0 0
w29 & 6.9 0.8 0.7 0 0 0.1 0
#ig 0.4 0 0 0 0 0.4
FYAT B 0.05 0 0 0 0 0
] 3 0 3 0 0 0 0
b2 brFey T 3.75 0.1 1 0.1 0 0.1
VRE—Y—2R 4.5 0 0 1.2 0 0.1 0.4
CALADY 7yt 22.56 0.2 0.5 1 2.7 0.5 0 0.1
CALA R HUE % 21 0.2 0 0 1.8 0.5 0 0
HiE/ S5 — 0.6 0 0.5 1 0 0 0 0
e LAE 0.9 0 0 0 0.9 0 0
B 0.06 0 0 0 0 0 0.1
E—DEAVS 92 1.4 3.1 0 11.6 3 0.5 0.9
JIES R % 30 0.5 0 0 4.6 1.7 0.2 0
Fe—vy RE & 30 0.3 0.1 0 15 0.7 0.1 0
il CALA R EDE & 20 0.1 0 0 1.9 0.6 0 0
Tt 3 0 3 0 0 0 0 0
HiE LA 3 0 0 0 3 0 0
ZLulHLEIR 6 0.5 0 0 0.6 0 0.1 0.9
EPVATADTEDZ 24.6 0.8 0.8 0 2.2 0.7 0.3 0.2
VATAESD EPLATA Y 21 0.4 0 1.1 0.5 0.1 0
ZE Ly 1.35 0.3 0.7 0 0.2 0.2 0.1 0
ZLulHLEIR 1.5 0.1 0 0 0.2 0 0 0.2
HiE LA 0.75 0 0 0 0.7 0 0
b0y R 40.53 0.3 1.5 0 2 0.4 0.1 0.1
e b R® O£ 31.25 0.2 0 0 1.5 0.3 0.1 0
fERE YAE & 5 0.1 0 0 0.4 0.1 0 0
1.88 0 0 0 0 0 0
1.5 0 1.5 0 0 0 0 0
0.63 0 0 0 0 0
0.13 0 0 0 0 0 0.1
0.13 0 0 0 0 0 0 0
ZLeS B OB 0.03 0 0 0 0 0 0
VAT REE &£ 30 0 0.1 0 4.7 0.4 0 0
VAT REE & 30 0 0.1 0 4.7 0.4 0 0
saAE 429.79 13.8 173 83.5 5.8 2.1 2.3
—Ha 670.24] 218 2L [ 1483 9.9 3.4 3.




